



addizione di frazioni (frazione propria) (frazione
impropria)

Nome: _____

Data: _____ Punteggio: _____

$$\frac{2}{8} + \frac{3}{2} =$$

$$\frac{5}{4} + \frac{1}{9} =$$

$$\frac{3}{2} + \frac{6}{5} =$$

$$\frac{3}{5} + \frac{7}{2} =$$

$$\frac{6}{8} + \frac{1}{2} =$$

$$\frac{7}{6} + \frac{6}{9} =$$

$$\frac{4}{3} + \frac{5}{7} =$$

$$\frac{7}{4} + \frac{4}{8} =$$

$$\frac{7}{2} + \frac{4}{7} =$$

$$\frac{2}{8} + \frac{2}{9} =$$

$$\frac{3}{5} + \frac{2}{4} =$$

$$\frac{4}{9} + \frac{1}{6} =$$

$$\frac{5}{9} + \frac{6}{8} =$$

$$\frac{6}{8} + \frac{1}{7} =$$

$$\frac{5}{2} + \frac{5}{2} =$$

$$\frac{4}{9} + \frac{1}{3} =$$

$$\frac{1}{2} + \frac{5}{8} =$$

$$\frac{4}{6} + \frac{2}{8} =$$

$$\frac{1}{8} + \frac{5}{3} =$$

$$\frac{1}{7} + \frac{1}{6} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\frac{2}{8} + \frac{3}{2} = \frac{7}{4} = 1\frac{3}{4}$$

$$\frac{5}{4} + \frac{1}{9} = \frac{49}{36} = 1\frac{13}{36}$$

$$\frac{3}{2} + \frac{6}{5} = \frac{27}{10} = 2\frac{7}{10}$$

$$\frac{3}{5} + \frac{7}{2} = \frac{41}{10} = 4\frac{1}{10}$$

$$\frac{6}{8} + \frac{1}{2} = \frac{5}{4} = 1\frac{1}{4}$$

$$\frac{7}{6} + \frac{6}{9} = \frac{11}{6} = 1\frac{5}{6}$$

$$\frac{4}{3} + \frac{5}{7} = \frac{43}{21} = 2\frac{1}{21}$$

$$\frac{7}{4} + \frac{4}{8} = \frac{9}{4} = 2\frac{1}{4}$$

$$\frac{7}{2} + \frac{4}{7} = \frac{57}{14} = 4\frac{1}{14}$$

$$\frac{2}{8} + \frac{2}{9} = \frac{17}{36}$$

$$\frac{3}{5} + \frac{2}{4} = \frac{11}{10} = 1\frac{1}{10}$$

$$\frac{4}{9} + \frac{1}{6} = \frac{11}{18}$$

$$\frac{5}{9} + \frac{6}{8} = \frac{47}{36} = 1\frac{11}{36}$$

$$\frac{6}{8} + \frac{1}{7} = \frac{25}{28}$$

$$\frac{5}{2} + \frac{5}{2} = 5$$

$$\frac{4}{9} + \frac{1}{3} = \frac{7}{9}$$

$$\frac{1}{2} + \frac{5}{8} = \frac{9}{8} = 1\frac{1}{8}$$

$$\frac{4}{6} + \frac{2}{8} = \frac{11}{12}$$

$$\frac{1}{8} + \frac{5}{3} = \frac{43}{24} = 1\frac{19}{24}$$

$$\frac{1}{7} + \frac{1}{6} = \frac{13}{42}$$